
  ا��
اد ا������ 
    

 
  :ا���ل ا�
�اد ا������ ا��
���: 1ا�����

  
  

 

ت ا�
�اد ا������ ا��
���  : 2ا������
  :و!� � 

10

9

11

8

5

3

2

7
         ;      

7

3

35

12

15

11

15

2

12

11
     ;   

16

15

64

7
    ;     

5

4

9

7

ووووو

ووو

  

  

 

ل أ!� ا�����#  : 3ا�����$%�&
  :≥أو  ≤ر() ا�
�اد ا������ '

10

9

11

8

5

3

2

7
         ;      

7

3

35

12

15

11

15

2

12

11
     ;   

16

15

64

7
    ;     

5

4

9

7

ووووو

ووو

  

  
 
  :أ!�) �
 �,+  : 4ا�����









+×=×=

−
−

=++=+=+=

4

3
 

8

7
 

5

2
;        

10

1
 

25

27
 

5
3

218
;     2

12

11

12

21
;

7

9

7

6
;    

6

5

8

7

nm

lkji  

  
 
  :5ا�����

أو�� ا�%�د ا����ي ا�/ي ��
وي  .1
�

�
  0�
 .48و � 

أو�� ا�%�د ا����ي ا�/ي ��
وي  .2
�

�
 .75و '�04  

  
  

 

!� ا:�$
��� 9+ آ8 8�7 �# ا��7
ل :6ا������$,� �;�<�
 (1) :أ
= ا�%�د ا����ي ا�/ي �%;� 
# ا�$�
!� ا�$> �4 '
  .(7)و  (6)و  (5)و (4)و (3)و (2)و
  
  
  
  
  
  
  

  
  
  
  
  

(1) 

(2)  

(3) 

(4) (6) 

(7) (5) 

2475

1456
 ; 

25146

7315
 ; 

69

23
 ; 

5040

3600
 ; 

165

121
 ; 

99

77
 ; 

56

48
 ; 

18

27

××

××

×

×

��ن أآ���ط  



  
 



ن ا�> = '
�%�د ا�$>
&)أ($<  :7ا�������.  
1°) 

15 ×   …   = 12 33 ×   …   = 24 …    × 300 = 700 …  × 18 = 20 

 

2°) 

4
5 ...

5
× = 

8
... 8

11
× = 

7
... ...

3
× = 

10
... ...

9
× = 

 

3°)  

4
15 ...

5
× = 

8
33 ...

11
× = 

7
300 ...

3
× = 

10
18 ...

9
× = 

 

7
0,3 ...

3
× = 

8
0,11 ...

11
× = 

4
10 ...

5
× = 

10
36 ...

9
× = 

 

4
... 28

5
× = 

8
... 40

11
× = 

7
... 140

3
× = 

10
... 50

9
× = 

 

4°)   

4 ...

5 35
= 

8 4

11 ...
= 

34 ...

51 3
= 

124 31

... 7
= 

 

 

 

:���
 ا�����
8: أ($< ا�$�'%
ت ا��?��� ا��
 

 

4

3
 

 

4

1
 

  

 

4

7
 

2

1
 

 

  

12

5
 

6

1
 

2

1
 

6

5
 

   

 

 

:+,� 
 ا�����
9: أ!�) �

A = 
5

4
 + 

7

4
     ;;    B = 

9

5
 × 

4

5
     ;;   C = 

2

7
 + 5   ;;   D = 10 � 

5

2
     ;;   E = 

7

9
 � 

18

14
   ;;    F = 

7

5
 – 

3

10
   ;;  G = 5 � 

15

3
 

H = 
4

8
 + 

5

7
    ;;    I = 

14

3
 × 9    ;;  J = 

13

4
 � 8    ;;   K = 

 
5

14
 

 
25

7
 

        ;;   L = 
56

84
 × 

128

49
   ;;    M = 

15

210
 + 

24

378
      

  

��ن أآ���ط  




